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IBPS BANK PO/M.T - CWE

MOCK TEST - VII

REASONING

1. Which of the following statements will be defi-
nitely true if the expression ‘V<E>B=H>
N > P’ is definitely true?

Each of the six persons, P, Q, R, S, T and U has
travelled to different number of countries. R has trav-
elled to more number of countries than only Sand T.
Q has travelled to more number of countries than U
but less than P. T is not the person who has travelled

(é) Ei?/ (i) E': l\\l/ to least number of countries. The one who has trav-
55; E>p (4) _E2 elled to second highest number of countries has trav-

2. Which of the following is definitely true if the
statements given below are considered to be
true?

(You have to take the given statements to be
true even if they seem to be at variance from

elled to 8 countries. The one who has travelled to the
least number of countries has travelled to only two
countries.

4.

Who amongst the following has possibly trav-
elled to 11 countries?

commonly known facts and then decide which () P (2) R
- : : @ T 4) Q
of the given Conclusions logically follows G) S

from the given statements disregarding com-
monly known facts.)

No Kite is a bird. All reptiles are birds. ‘All
kites are amphibians. All amphibians are

Ifitis given that R has travelled to four coun-
tries less than the number of countries trav-
elled by Q, then to how many countries has U

plants. possibly travelled?

(1) All amphibians being birds is a possibil- 1) 4 2 9
ity. 3) 3 4) 6

(2) All plants being reptiles is a possibility. (5) 10

(3) At least some reptiles are amphibians.
(4) All kitesare plants.
(5) At least some plants are reptiles

3. Which of the following symbols should be
placed in blank spaces respectively (in the
same order from left toright) in order to com-
plete the given expression in such a manner
that both ‘W >R’ aswell as ‘E > S* definitely
hold true?W_E_A__R__S

Directions (6 - 10) : Study the following infor-
mation carefully and answer the questions given be-

low :

In a certain code language,

“few organic farming techniques’ is written as
‘ligsdacr’

“fertilizer products few available’ is written ‘fo
pz nb gs’

n >=,2,2 @) >2,=> ‘organic waste into fertilizer’ is written ‘nb cr
(3) S’ z’ :1 z (4) Si :1 >1 z pt mk1
6) ><2>=

‘disposal of farming waste’ is written as ‘hu

Directions (4 - 5) : Study the following informa-
tion carefully and answer .the questions given be-
low:

mk i yu’

(All codes are two letter codes only)
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6. What will be the code for ‘few waste’ in the
given code language?
(1) gsli
(2) ptda
(3) damk
(4) Other than those given as options
(5) mkags

7. What is the code for ‘organic’ in the given code
language?
(1) os (2) cr
() da (4) pt
(5) Other than those given as options

8. Inthe given code language, what does the code
‘yu’ stand for’?
(1) farming
(2) techniques
(3) either ‘of” or ‘disposal’
(4) waste
(5) either “into’ or ‘few’

9. If ‘waste management techniques’ is coded
as ‘ax da mk’ in the given code language,
then how will “farming fertilizer management’
be coded as?

(1) axnber (2) liaxpt
(3) gslinb (4) nbliax
(5) Other than those given as options

10. What is the code for ‘available’ in the given
code language?
(1) either ‘pz’ or fo’
(2) either ‘nb’ or ‘mk’
3) i
4) hu
(5) Other than those given as options

Directions (11-16) : Study the following infor-
mation carefully and answer the questions given be-
low :

Eight persons — K, L, M, N, O, P, Qand R —
live on eight different floors of a building but not nec-
essarily in the same order. The lower most- floor of
the building in numbered one, the one above that is
numbered two and so on till the topmost floor is num-
bered eight. Each of them also likes a different super-
hero namely, Batman, Superman, Captain America,
Thor, Hulk, Wolverine, Nova and Ironman, but not
necessarily in the same order.

e Theonewho likes Thor lives on an even

11.

12.

13.

numbered floor. Only three persons live
between the one who likes Thor and M.

*  Onlytwo persons live between M and N.
N does not live on the lowermost floor.
Only three persons live between N and
the one who likes Hulk.

*  Olivesimmediately above K. O lives on
an even numbered floor. K does not like
Hulk. K lives neither on floor numbered
three nor five.

*  Onlytwo persons live between K and the
one who likes Nova.

*  Only one person lives between the one
who likes Nova and Ironman. The one
who like Ironman lives below the one
who likes Nova.

e L lives immediately above Q. Only one
person lives between Q and the one who
likes Captain America.

e The one who likes Wolverine lives im-
mediately above the one who likes
Batman.

e  Pdoesnot like Thor. K does not like Su-
perman.

Which of the following pairs represent those
who lives immediately above and immediately
below N?

(1) R L

(2) Other than those given as options

(3) LM

(4) KQ

®) RQ

Four of the following five are alike in a cer-
tain way as per the given arrangement and so
form a group. Which of the following does not
belong to that group?

(1) K- Floor numbered Five

(2) Q- Floor numbered Six

(3) L-Floor numbered Two

(4) N -Floor numbered Seven

(5) R-Floor numbered Eight

Which of the following super-heroes does R
like?

(1) Other than those given as options

(2) Superman

(3) Nova

(4) Thor



14.

15.

16.

17.
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(5) Batman

Which of the following super-heroes does P
like?

(1) lronman

(2) Wolverine

(3) Batman

(4) Captain America

(5) Other than those given as options

N lives on which of the following floor num-
bers?

(1) Five (2) Three

(3) Seven (4) One

(5) Other than those given as options

As per the given arrangement, P is related to
Nova and N is related to Wolverine in a
certain way. To which of the following is M
related to in the same way?

(1) Superman (2) Batman

(3) CaptainAmerica (4) Thor

(5) Hulk

Study the following information carefully to
answer the question given below :
Afatal disease has spread across the ‘Spatter’
village of State X. Even though the prescribed
medicine is abundantly available in one of the
cities near ‘Spatter’ which can cure the dis-
ease, the Medical Association of the State has
decided not to allow the medicine to be trans-
ported to ‘Spatter’ and is calling the infected
people to the city to be injected with the medi-
cine.

Which of the following can be a reason be-

hind the decision of the Medical Association?

(1) The Assaciation may not be able to earn
high profits from selling the medicine to
‘Spatter’.

(2) Many of the villagers may not be able to
afford the medicine as itis highly priced.

(3) Thedisease has started to spread in other
villages also, making it challenging for
the Association to provide the medicine
everywhere.

(4) Reportedly, many of the villagers are try-
ing home remedies to reduce the effect
of the disease and hence they may not
require the medicine.

(5) Ifthe medicine is not injected under the

prescribed controlled environments, it
may have adverse effects.

Directions (18-20) : In each of the following
questions, relationship between different elements is
shown in the statements. The statements are followed
by two Conclusions numbered I and II. Study the Con-
clusions based on the given statements and mark the
appropriate answer.

Give answer (1)if both the Conclusion I and
Conclusion Il are true

Give answer (2)if neither Conclusion I nor
Conclusion Ilistrue

Give answer (3)if either Conclusion I or Con-
clusion Il is true

Give answer (4)if only Conclusion I is true
Give answer (5)if only Conclusion Il is true

18. Statements :
F=A<L<C>O0O>N;
Y>L;Q>C
Conclusions :

. Y<N
II. Q>F

19. Statements:
R>K=H>N>A<S;
N>M>T
Conclusions:

. K>T
II. R>M

20. Statements :
S<P<C=D<L>K;
D<T<G
Conclusions:

. G>S
. T>K

Directions (21-25) : Study the following infor-
mation carefully and answer the questions given be-
low :

Eight friends—J, K, L, M, N, O, Pand Q —are
sitting around a circular table but not necessarily in
the same order. Some of them are facing the centre
and some of them are facing outside, (i.e. in a direc-
tion opposite to the centre.)

Facing the same direction means if one person
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faces the centre then the other also faces the centre
and vice-versa. Facing the opposite direction means
if one person faces the centre then the other faces
outside and vice-versa.

Immediate neighbours facing the same direction
means if one neighbour faces the centre then the other
also faces the centre and vice-versa.

Immediate neighbours facing the opposite direc-
tion means if one neighbour faces the centre then the
other faces outside and vice-versa.

*  Only one person sits between K and O.
Q sits third to the right of O.

»  Msitstothe immediate right of Q. Q faces
outside.

e Lsits second to the left of P. P is not an
immediate neighbour of O.

» L faces a direction opposite to that of O.
Immediate neighbours of L face opposite
directions.

e Jsits third to the left of N. J is not an
immediate neighbour of P nor K.

MandJ face a direction same as that of
N.

21. Four of the following five are alike in a cer-
tain way based on the directions they are form-
ing and so form a group. Which is the one that
does not belong to that group?

(1) KL (2 Q™M
@) PQ (4) NJ
(5) QL

22. Who among the following sit exactly between
Q and O when counted from the right of Q?

1 RJ (2) M,P
3) LK (4 N,L
(5) I M

23. Which of the following is not true regarding
K as per the given arrangement?
(1) Nisan immediate neighbour of K.
(2) Ail the given options are true
(3) Onlythree persons sit between K and M.
(4) Lsits to the immediate left of K.
(5) K faces outside.

24. What is L’s position with respect to N?
(1) Immediate right
(2) Secondtothe right
(3) Thirdtotheright

(4) Third tothe left
(5) Immediate left

25. Who amongst the following are immediate
neighbours of P ?

1) M, N @) KM
3 J.Q 4 N, K
) QN

26. Study the following information carefullyand
answer the question given below :

The government of State Y is promoting or-

ganic farming this year onwards. Thus, the raw

material needed for it is made available at a

subsidised rate. Free regular classes are also

arranged to train the farmers in organic farm-
ing methods and to solve their problems.

The farmers of village B however are still con-

tinuing with the industrial farming methods de-

spite several requests from the government.

Which of the following statements, if consid-

ered true, may support the action of farmers

of village B?

(1) Industrial farming leads to more produc-
tivity in the short term, however, in the
long term, it diminishes the soil life and
production becomes heavily dependent
on chemicals.

(2) Organic farming requires considerably
more skill as compare to industrial farm-
ing.

(3) Although a few farmers across State Y
have tried their hand at organic farming
earlier, none of the farmers of village B
have participated in it before.

(4) Organic food is expensive and not many
people in State Y may be able to afford
it, however with the subsidies, provided
by the government, it will become afford-
able.

(5) Organic farming methods are very labour
intensive as regular extensive observation
is required whereas finding labour at af-
fordable costs isa challenge for farmers
of village B.

Directions (27-30) : In each of the following
questions three statements followed by two Conclu-
sions numbered | and 11 have been given. You have
to take the given statements to be true even if they
seem to be at variance from the commonly known
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facts and there decide which of the given Conclu-
sions logically follows from the given statements, dis-
regarding commonly known facts.

Give answer (1) if both the Conclusion | and
Conclusion Il follow

Give answer (2) if neither Conclusion | nor
Conclusion I1 follows

Give answer (3)if either Conclusion I or Con-
clusion Il follows .

Give answer (4) if only Conclusion | follows

Give answer (5) if only Conclusion 11 follows

(27-28) : Statements

217.

28.

Some ratios are percent.
All percent are fractions.
No fraction is a section.

Conclusions
I.  Nosection is a percent.
Il.  All ratios being fractions is a possibility

Conclusions
I.  Allsections being ratios is a possibility.
Il. At least some fractions are ratios.

(29-30) : Statements

29.

30.

All metals are plastics.
All plastics are ores.
Some ores are wood.

Conclusions
I. All wood being metals is a possibility
I1. No ore is a metal

Conclusions
I. At least some metals are wood
I1. All plastics being wood is a possibility

Direction (31-35) Study the following informa-

tion carefully and answer the questions given below.

Eight persons — E, F, G, H, W, X, Y and Z —
are sitting in two parallel rows containing four per-
sons each.E, F, G and H are sitting in row-1 facing
north and W, X, Y and Z are sitting in row-2 facing
south (but not necessarily in the same order). Thus,
each person sitting in row - 1 faces another person
sitting in row - 2- Each of the two rows consists of
one Doctor, one Engineer, one Pilot and one Scien-
tist (but not necessarily in the same order).

31.

32.

33.

34.

35.

» The Doctor of row-1 sits second to the
right of H, X faces one of the immediate
neighbours of H. Only one person sits
between the X and the Scientist.

»  The one who faces the Scientist of row -
2 is an immediate neighbour of E. Only
one person sits between E and the Pilot.

» W sits second to the right of Z. Y does
not face G. The Scientist of row-1 faces
the Engineer of row - 2.

»  Gfacesoneoftheimmediate neighbours
of the Doctor of row-2. The Doctor of
row - 2 does not sit at any of the extreme
ends of the line. Z is not a Doctor.

Which of the following represents the people
sitting at extreme ends of both the lines?

(1) FHand X,Y (2) FHandZ W
(3) GEandz X (4) E,Hand X, Z
5) GEandW,Y

Who amongst the following sits to the imme-
diate left -of Pilot of row -1?

1) H

(2) The Doctor of row—1

(3) The Engineer of row—1

4 G

(5) F

Which of the following represent both the im-
mediate neighbours of Y?

(1) Zand the Scientist of row-2

(2) Xand the Engineer of row-2

(3) W and the Doctor of row-2

(4) Xand the Pilot of row-2

(5) W and the Pilot of row-2

Which of the given statements is true with re-

spect to the given arrangement?

(1) Gisa Scientist

(2) Y sitstothe immediate right of X

(3) Fand Z face .each other.

(4) None of the given statements is true

(5) The Engineer of one row faces the Doc-
tor of another row.

If'Y and X'interchange their places,, -sodo H
and Z, then who amongst the following will
face E?

a1 v 2 H

3) F 4 w

(5) Other than those given as options
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Quantitative Aptitude

36.

Four circles having equal radii are drawn with
centres at the four corners of a square. Each
circle touches the other two adjacent circle. If
remaining area of the square is 168 cm?, what
is the size of the radius of the circle ? (in
centimetres)

1) 14 Q) 14
3) 35 @) 21
(5) 3.5

Directions (37-41): What will come in place of

the question mark (?) in each of the following num-

ber series.

37. 158 78 38 18 8 ?
1) 3 (2) 5
Q) 2 @4 7
(5) 6

38. 16 19 24 33 50 *?
(1) 83 (2) 66
(3) 99 4) 74
(5) 102

39. 402 400 388 358 302 *?
(1) 212 (2) 236
(3) 190 (4) 182
(5) 210

40. 31 15 21 50 ? 767.25
(1) 160.5 (2) 1715
(3) 156.5 (4) 1225
(5) 1435

41.8 55 85 23 85 ?
(1) 455 (2) 4205
(3) 445 (4) 4155
(5) 433

42. A vessel contains a mixture of milk and water

in the respective ratio of 14 : 3. 25.5 litres of
the mixture is taken out from the vessel and
2.5 litres of pure water and 5 litres of pure milk
is added to the mixture. If the resultant mix-
ture contains 20% water, what was the initial
quantity of mixture in the vessel before the re-
placement? (in litres)
(1) 51

(3) 68

(5) 34

) 102
4) 85

43.

44,

45,

46.

A, Band C started a business by investing Rs.
20,000, Rs. 28,000 and Rs. 36,000 respec-
tively. After 6 months, A and B withdrew an
amount of Rs. 8,000 each and C invested an
additional amount of Rs. 8,000. All of them
invested for equal period of time. If at the end
of the year, C got Rs. 12,550 as his share of
profit, what was the total profit earned ?

(1) Rs. 25,100 (2) Rs. 26,600

(3) Rs. 24,300 (4) Rs. 22,960

(5) Rs. 21,440

1
There are three positive numbers, 3 rd of av-
erage of all the three numbers is 8 less than
the value of the highest number. Average of
the lowest and the second lowest number is 8.
Which is the highest number?

1 11 ) 14
(3) 10 @ 9
(5) 13

A sum of money was invested for 14 years was
in Scheme A which offers simple interest at a
rate of 8 % p.a. The amount received from
Scheme A after 14 years was then invested for
two years in Scheme B which offers compound
interest (compounded annually) at a rate of
10% p.a. If the interest received from Scheme
B was Rs. 6,678, what was the sum invested
in Scheme A?

(1) Rs. 15,500
(3) Rs. 16,500
(5) Rs. 15,000

(2) Rs. 14,500
(4) Rs. 12,500

1
4 years ago, the respective ratio between 5

of A’s age at that time and four times of B’s
age at that time was 5:12.Eight years hence

1
5 of A’s age at that time will be less than B’s

age at that time by 2 years. What is B’s present
age ?

(1) 10 years
(3) 12 years
(5) 8years

(2) 14 years
(4) 5years
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Directions (47-51) : Study the table and answer the given questions Data related to salary structure of 5
individuals from different organisations in March.

Note

47,

48.

49.

50.

Sl

Individuals | Basic Salary | Total Allowance | Total Deduction |Net Salary
(in Rs) (in Rs.) (inRs.) (in Rs.)
P 21800 28600 - -
Q - - 4350 25850
R 10400 12400 2800 20000
S 11200 13800 - -
T - 21600 5700 -

: (i) Total Deduction = Provident Fund Deduction (which is 10% of basic salary) + Other deduction

(if) Net Salary = Basic Salary + Total Allowance — Total Deduction
(iii) Few values are missing in the table (indicated by —). A candidate is expected to calculate the
missing value, if it is required to answer the given question, on the basis of the given data and

information.

If other deduction of P was Rs. 4,720, what
was his net salary?
(1) Rs. 42,500
(3) Rs. 43,000
(5) Rs. 42,000

If Q’s total allowance was Rs. 3,000 more than
his basic salary, what was his total allowance?
(1) Rs. 17,000 (2) Rs. 17,500

(3) Rs. 16,000 (4) Rs. 16,600

(5) Rs. 15,500

If the respective ratio of Provident Fund de-
duction and other deduction and other deduc-
tion of Swas 7 : 13, what was S’s other deduc-

(2) Rs. 43,500
(4) Rs. 41,500

tion ?
(1) Rs.2,160 (2) Rs. 2,080
(3) Rs. 2,120 (4) Rs. 2,040
(5) Rs. 1,980
Basic salary of S is what percent more than
the basic salary of R?
4 7
6— 5—
@ °53 @ >3
9 7
9— 11—
) 13 “) 13
9
T —
G 13

If other deduction of T was Rs. 4,000, what
was his net salary?

(1) Rs. 32,500 (2) Rs. 31,900

(3) Rs.32,700
(5) Rs. 32,900

@) Rs.31,700

Directions (52-56) : In the following questions

two equations numbered I and Il are given. You have
to solve both the equations and

52.

53.

54.

55.

56.

Give answer (1)

Give answer (2)

Give answer (3)

Give answer (4)

Give answer (5)
tionship cannot be

. x*-3x-88=0
I.y2+8y—-48=0
l.5x>+29x +20=0
1. 25y2 + 25y + 6 =0
. 2x°-11x+12=0
1. 2y~ 19y + 44 =0
I.3x2+10x+8=0
I1.3y2+7y+4=0

. 2x?+21x+10=0
1. 3y2+ 13y + 14 =0

ifx>y

ifx>y

ifx<y

ifx<y

if x = y or the rela-
established.

Directions (57-61) : This data is regarding to-
tal number of employees working in Administration
(Admin), Operations (Ops.) and other departments
of corporate divisions of Companies A and B

The total number of employees working in both
the companies together is 4800. The respective ratio
of number of employees in CompaniesAandBis5:
7. Each employee works in only one of the mentioned
departments.
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In company A, 70% of the total employees are
males. 60% of the total male employees work in “‘Ops’.

1
Out of the remaining male employees, g”‘ work in

‘Admin’. Out of the total female employees, 24%

th
work in ‘Admin’ and gthe remaining female em-

ployees work in ‘Ops’.

In company B, 80% of the total employees are
males. 65% of the total male employees work in “‘Ops’.
Number of male employees who work in “other de-
partments’ in Company B is 20% more than the male
employees who work in ‘Other departments’ in com-
pany A. Number of female employees who work in
Ops in Company B are less than the number of male
employees who work for ‘Ops’ in the same company;,

1
by 75%. Out of the remaining female employees, —

"4

work in ‘admin’
57. What percent of the total number of male em-
ployees in company A work in ‘other depart-

ments’ ?
(1) 45 (2) 25
(3) 30 (4) 35
(5) 40

58. What Percent of the total number of female
employees in company B work in administra-
tion department ?

(1) 185 (2) 175
(3) 14 (4) 16
(5) 19

59. What is the total number of female employees
who work in Ops in Company A and B to-

gether?
(1) 681 (2) 781
(3) 689 (4) 649
(5) 788

60. What is the difference between the average
number of males working in ‘Admin’ in both
the companies together and average number
of females working in ‘Other Departments’ in
both the companies together ?

(1) 26 (2) 36

61.

62.

63.

64.

(3) 16
(5) 14

In company B, what is the respective ratio be-
tween the total number of employees (both
male and female) who work in ‘Admin’ and
the total number of employees (both male and
female) who work in ‘Other department” in the
same company ?

4) 24

(1) 23 () 1:3
(3 1:4 4) 3:5
(5) 1:5

Monthly salaries of Piaand Som are in the re-
spective ratio of 5 : 4.Pia, from her monthly

3
salary, gives 5 th to her mother. 15% towards

her sister’s tuition fees, 18% towards a loan
and she shops with the remaining amount
which was Rs. 2,100.What is the monthly sal-
ary of Som ?

(1) Rs.25,000
(3) Rs. 15,000
(5) Rs.24,000

(2) Rs.30,000
(4) Rs.20,000

12 men can finish a project in 20 days. 18
women can finish the same project in 16 days
and 24 children can finish it in 18 days. 8
women and 16 children worked for 9 days and
then left. In how many days will 10 men com-
plete the remaining project ?

(1) 10% (2) 10
1
@) 9 (4) 115
1
(5) 95

An item was bought at Rs. X and sold at Rs. Y,
there by earning a profit of 20%. Had the value
of X been 15% less and the value of Y been
Rs. 76 less, a profit of 30% would have been
earned. What was the value of ‘X’

(1) Rs. 640 (2) Rs.400
(3) Rs.600 (4) Rs.800
(5) Rs.840
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Directions (65-69) : Refer to the graph and an-
swer the given questions.

Data related to number of projects handled by two
companies (A and B) during 5 years
400 : - — :

- A /\ /'

o

.Q

K

o

= .

@ 250 ¢

g M

£ 200

& 150/

(=]

5 100

£ 50

=

z 0

2003 2004 2005 2006 2007

—— A 180 230 360 250 300
—&— B 130 320 210 190 350

65. Out of the total number of projects handled by
company A in 2005 and 2006 together, 20%
were Governmental projects. What was the
total number of governmental projects handled
by company A in 2005 and 2006 together ?

(1) 108 (2) 132
(3) 128 (4) 116
(5) 122

66. The projects handled by company B can be
broadly classified into two types : Governmen-
tal projects and Non-governmental projects.
If the average number of non-governmental
projects handled by company B in 2003 and
2004 is 127, what is the total number of gov-
ernmental projects handled by the same com-
pany in 2003 and 2004 together ?

(1) 204 (2) 188
(3) 192 (4) 196
(5) 212

67. The number of projects handled by company
B decreased by what percent from 2004 to

2006 ?

(1) 352 (2) 30%
(3) 50% (4) 45%
(5) 402

68. If the number of projects handled by company
A increased by 20% from 2007 to 2008 and
by 5% from 2008 to 2009, what was the hum-
ber of projects handled by company A in 2009?

(1) 378 (2) 372
(3) 384 (4) 396
(5) 368

69. What is the difference between the total num-
ber of projects handled by company Ain 2003
and 2004 together and total number of projects
handled by company B in 2005 and 2007 to-

gether ?
(1) 120 (2) 150
%3; 130 (4) 180
5) 368

70. The speed of the boat in still water is 24 kmph
and the speed of the stream is 4km/h. The time
taken by the boat to travel from A to B down-
stream is 36 minutes less than the time taken
by the same boat to travel from B to C up-
stream. If the distance between A and B is 4
km more than the distance between B and C,
what is the distance between Aand B ?

(1) 112km (2) 140 km
(3) 56km (4) 84km
(5) 28km

ENGLISH LANGUAGE

Directions (71 - 80) : Read the following pas-
sage carefully and answer the questions given. Cer-
tain words have been given in bold to help you lo-
cate them while answering some of the questions.

We are told that economy is growing and that
such growth benefits all of us. However, what you
see is not what you always get. Most people are ex-
periencing declining economic security in response
to the problems of the global system, many commu-
nities have turned to Local Exchange Systems (LESS)
to help regain some control over their economic situ-
ations.

Local exchange systems come in many forms.
They often involve the creation of a local currency,
or a system of bartering labour, or trading of agricul-
tural products as a means of supporting the region in
which they are traded. Such a system helps preserve
the viability of local economies.
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Local currencies allow communities to diversify
their economies, reinvest resources back into their
region and reduce dependence on the highly concen-
trated and unstable global economy. Each local cur-
rency system serves as an exchange bank for skills
and resources that individuals in the community are
willing to trade. Whether in the form of paper money,
service credits, or other units, a local currency facili-
tates the exchange of services and resources among
the members of a community.

By providing incentives for local trade, commu-
nities help their small businesses and reduce under-
employment by providing the jobs within the com-
munity. In addition, the local exchange of food and
seeds promotes environmental conservation and com-
munity food security. Local food production reduces
wasteful transportation and promotes self-reliance and
genetic diversity. Each transaction within a local ex-
change system strengthens the community fabric as
neighbours interact and meet one another. There are
over 1,000 local exchange programs worldwide more
than 30 local paper currencies in North America and
at least 800 Local Exchange Trading Systems (LETS)
throughout Europe. New Zealand and Australia Lo-
cal Exchange Systems vary and evolve in accordance
-with the needs and circumstances of the local area.
This diversity is critical to the success of the local
currencies. For instance, a bank in rural Massachu-
setts refused to lend a farmer the money needed to
make it through the winter. In response, the farmer
decided to print his own money Berkshire Farm Pre-
serve Notes. In winter, customers buy the notes for
$9 and they may redeem them in the summer for $10
worth of vegetables. The system enabled the com-
munity to help a farm family after being abandoned
by the centralized monetary system. As small family
farms continue to disappear at an alarming rate, local
currencies provide tools for communities to bind to-
gether, support their local food growers and maintain
their local food suppliers.

Local Exchange Systems are not limited to de-
veloped countries. Rural areas of Asia, Latin America
and Africa have offered some of the most effective
and important programs, by adopting agriculture-
based systems of exchange rather than monetary ones.
In order to preserve genetic diversity, economic se-
curity and avoid dependence on industrial seed and
chemical companies, many villages have developed
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seed saving exchange banks. For example, the vil-
lage women in Ladakh have begun to collect and ex-
change rare seeds selected for their ability togrow in
a harsh mountain climate. This exchange system pro-
tects agriculture diversity while promoting self-reli-
ance. There is no one blueprint for a local exchange
system, which is exactly why they are successful ve-
hicles for localisation and sustainability. They pro-
mote local economic diversity and regional self-reli-
ance while responding to a region’s specific needs.
Local exchange systems play a pivotal role in creat-
ing models for sustainable societies. They are an ef-
fective educational tool, raising awareness about the
global financial system and local economic matters.
Local exchange systems also demonstrate that tan-
gible, creative solutions exist and that communities
can empower themselves to address global problems.

71. Which of the following is same in meaning as
the word ‘LIMITED TO’ as used in the pas-
sage?

(1) restricted to

(2) extending beyond
(3) validated for

(4) adjusted

(5) custodial

72. Which of the following can be a suitable title
for the passage?
(1) Reasons LES must rule over the regular
currency
(2) Methods to escape global economic is-
sues
(3) Dependence of Asian countries on LES
(4) Role of LES in development of commu-
nities
(5) LES- A Futile Exercise
73. Which of the following is most nearly the op-
posite in meaning as the word ‘PIVOTAL’ as
used in the passage?
(1) essential

(3) _healthy
(5) trivial

(2)  unnourished
(4) overriding

74. As mentioned in the passage, there is no set
design to initiate local exchange systems as

(A) they tend to work well only in selected
countries
(B) they are region specific
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(C) they are too complicated to understand

(1) OnlyA (2) OnlyB
(3) BothAandC (4) Both Aand B
(5) OnlyC

75. Which of the following is most nearly the op-

posite in meaning as the word ‘BIND’ as used
in the passage ?
(1) wvisionless
(3) associate
(5) reunite

(2) separate
(4) loosen

76. Which of the following statements is true in

the context of the passage ?

(1) LES work well only in countries whose
economies are based primarily on agri-
culture.

LES increases unhealthy competition
between communities from different re-
gions. .

LESs encourage communities to become
self-supporting

LESs are restricted to trading with paper
money only.

(5) None of the given statements is true

()

3)
(4)

77. Asmentioned in the passage, local currencies

can prove to be beneficial for the community
asthey .

(A) assist in creating job opportunities.

(B) indirectly help in conserving the environ-

ment.

(C) aid in minimising reliance on global
economy.

(1) OnlyA (2) OnlyB

(3) BothAandC (4) BothAandB
(5) Allthethree A,BandC

78. Which of the following is the meaning of the

phrase ‘what you see is not what you always

get’ as mentioned in the passage with respect

to present economic situation in the country ?

(1) Sharing information without hiding facts.

(2) Being pessimistic while presenting infor-
mation.

(3) Moadifying information after taking con-
sent from every stakeholder.

(4) Wiaiting to share positive information.

(5) Whatis presented may not necessarily be

true.
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79.

80.

Which of the following is most nearly the op-
posite in meaning as the word ‘REGAIN’ as
used in the passage ?

(1) recover (2) restart
(3) forfeit (4) revalue
(5) liberate

As mentioned in the passage, the statistics with

respect to LES highlight that_.

(1) very few countries are aware about such
programmies.

(2) they face more resistance from, devel-
oped countries than developing ones.

(3) they are becoming popular among com-

munities across the globe.

(4) they lack support of farmers.

(5) the gap between the rich and the poor is

increasing.

Directions (81 - 85) : Read each sentence to

find out whether there is any grammatical mistake/
error in it. The error, if any, will be in one part of the
sentence. Select the part with the error as your an-
swer. If there is no error, Select ‘No error’ as your
answer. (Ignore the errors of punctuation, if any)

81.

82.

83.

84.

85.

The rise of ATMs, telephone banking, the
internet (1)/ and now smartphones has (2)/ led
to a decline of 5 to 8 percent a year (3)/ in the
number of visits by customers to branches. (4)/
No error (5)

Sporting body such as FIFA (1)/ should be run
transparently and rigorous standards (2)/
should be maintained to ensure that (3)/ sports
are played in the right spirit. (4)/ Noerror (5)

Owing to the frequent fluctuations in electric-
ity, (1)/ businesses in Africa are forced to (2)
/ invest in generators thereby paying (3)/ ex-
orbitant amounts for electricity. (4)/No error

Q)

Without a reduction in imports, the decline (1)/
in the economy will be even great though (2)/
the central bank is positive that (3)/ the
economy will recover by next year. (4)/ No
error (5)

Changing a company’s corporate culture (1)/
is difficult but not impossible (2)/ and intro-
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ducing systems such as (3)/ pay for perfor-
mance’ will help a company grow. (4) /  No
error (5)

Directions (86-90) : Rearrange the given six sen-
tences/ group of sentences (A), (B), (C), (D), (E) and
(F) in a proper sequence so as to form a meaningful
paragraph and then answer the given questions.

(A) Initiatives by Japan and the European
Union over the past two years depressed
the yen and euro earlier.

(B) Therising dollar has hurt US exporters by
making their goods costlier abroad, and
China’s move to devalue its currency
could further complicate the Fed’s deci-
sion on when to raise rates.

(C) All these moves contrast with action fore-
seen from the Federal Reserve, which is
widely expected to boost the short-term
interest rate it controls later this year.

(D) China’s central bank said the devaluation
of the Yuan was a result of reforms in-
tended to make its exchange rate more
market-oriented.

(E) This Fed rate hike would likely raise the
value of the dollar, which has already
jumped about 1.4 percent in value in the
past 12 months against a basket of for-
eign currencies.

(F) With this devaluation, China becomes the
third major economy to act on lowering
its currency value.

86. Which of the following should be the
FOURTH sentence after rearrangement ?

@ A (2) B
@) C 4 E
(5) D

87. Which of the following should be the SEC-
OND sentence after rearrangement ?

L A (2 B
@) C (4) D
) F

88. Which of the following should be the LAST
(SIXTH) sentence after rearrangement ?

1 A (2 F

@) D @4 C

() B
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89. Which of the following should be the FIRSI’
sentence after rearrangement ?

1 A (2) B
@) C 4 D
) E

90. Which of the following should be the THIRD
sentence after rearrangement ?

1) A ) B
@) F 4 D
®) E

Directions (91 - 95): Each sentence below has
two blanks, each blank indicating that something has
been omitted. Choose the words that best fit the mean-
ing of the sentence as a whole.

91. Rolling the neck is a very simple and effective
exercisswhenit __ to off the double
chin.
1)
)
®)
(4)
©)

comes, fighting
relates, shedding
regards, sloughing
associates, removing
pertains, edging

92. The traffic police said that it was not possible
to personnel permanently at the spot
to prevent the situation because
of manpower.

(1) send, issue
(2) arrange, lack
(3) let, less
(4) deploy, insufficient
(5) dispatch, constricted
93. Your children take of most of your ac-

tions and traits, both good and bad, which is
why it is that you leave them more
good examples than bad.

(1) light, crucial

(2) cognizance, urgent

(3) copy, important

(4) note, essential

(5) pretence, vital

The region has already___ few very long dry
spells this season, concern about the
survival of the kharif crop.

(1) Subjected, posing

(2) witnessed, sparking

94,
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(3) seen, sensing
(4) dealt, generating
(5) suffered, bordering

95. The forum ___ desired effortsbe ___ at the
earliest on a sustained basis to create an au-
thentic database.

(1) demanded, initiated
(2) suggested, dealt
(3) ask, commenced
(4) proclaimed, earned
(5) questioned, made

Directions (96-100): Which of the phrase given
against each sentence should replace the word/
phrase, given in bold in a sentence to make it gram-
matically correct, if the sentence is correct as it is
given and no correction is required, choose ‘No cor-
rection required’ as the answer.

96. Itisimportant toteach children that discrimi-
nating on any particular culture is not accept-
able.

(1) discrimination for

(2) discriminating against
(3) todiscriminate towards
(4) discriminated of

(5) No correction required

97. Although official orders, work of re-survey
of out-of-school children has not yet been un-
dertaken in many parts of the State.

13

98.

998

100.

(1) Eventhough

(2) Inspite of

(3) While

(4) However

(5) No correction required

Ayurveda believes that herbs when ingested
bring about changes in the energy of a human
body.

(1) whenitisingest

(2) ingested when

(3) whilebeing ingest

(4) when one ingesting

(5) No correction required

The owners of commercial establishments in
the city were given orders to furnished de-
tailed information of their tenants.

(1) furnished orders

(2) ordered for furnishing

(3) ordered to furnish

(4) orderlyfurnished

(5) No correction required

Traffic snarls along the highway have started
again, despite the area is declared a “no park-
ing zone”

(1) declaration on

(2) hasbeen declared

(3) being declared

(4) hastodeclare

(5) No correction required
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] SOLUTIONS ]

1. (1) V<SE>B=H>N>P (6 - 10) :
P<B— True
H <V — Not true gerwamcgs or
N >V — Not true ganic — cf
farming — i

E > N — Not true

E > P> Not true techniques — da

fertilizer - nb

2. (4) All reptiles are birds — Universal waste — mk
Affirmative (A- type) into — pt
Some reptiles are birds — Particular farming — i
Affirmative (I-type) product/available — fo/pz
No kite is a bird — Universal Negative disposal/of — her/yu.
(E-type)
Some kites are not birds — Particular ERCAETS
Negative (O-type) waste = mk

A All reptiles are birds

/

E No bird is a kite

A +E — E -type of conclusion . (4) waste =mk

No reptile is a Kite techniques= da
A All kites are amphibians farming = li

/ fertilizer = nb

A All amphibians are plants management = ax

~

. (2) organic= cr

oo

. (3) yu= disposal/of

©

A+ A — A-type of conclusion 10. (1) available= fo/pz
- All kites are plants.
. Option 4 is true (11-16):

3. (1) W>E=A>R>S Floor Person Favourite
W>R— True Number Superhero
E>S— True 8 0 Wolverine

(4-5): 7 K Batman
- — —R>ST 6 R Thor
P>Q>U 5 N Captain America
P>Q>U>R>T>S 4 L Nova
J \2 3 Q Superman
8 8 2 M Iron man
4. (1) Qtravelled to eight countries. Only P has e P Hulk

travelled to more number of countries than
Q. 11. (1) Rlives immediately above N while L lives

immediately below the floor of N.
5. (4) Rhas travelled to more than four but less

than eight countries. 12. (2) Klives on floor numbered seven
U=56o0r7. =(+2)

14



13.
14.
15.
16.

17.
18.

19.

20.

(21 -
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Q lives on floor numbered Three..
= (6-3)

L lives on floor numbered four
=(2+2)=4

N lives on floor numbered five
= (7-2)

R lives on floor numbered six
=(8-2)=6

(4) R likes Thor
(5) P likes Hulk
(1) N lives on 5th floor.

(3) L likes Nova and there are two persons sit
b/w O and N.
Similarly N likes captain America and
there are two persons b/w N and M.

()

(5) F=A<L<C>02>N;
Y>L:Q>C
Y>L<C>O>N
F=A<L<C<Q
Conclusions :

I. Y<N: NotTrue
I1.Q>F:True

R>K=H>N>A<S:
N>M>T
R>K=H>N>M>T
Conclusions :

I. K>T: True
I.R>M: True

(4) S<P<C=D<L>K;,
D<T<G
S<P<C=D<T>G
G>T>D<L<K
Conclusions :

I. G>S:True
II. T>K: NotTrue

(1)

25) :

15

21.

22.

23.

24,

25.
26.

(2) Kand L face the same direction.
Q and M face the opposite directions.
P and Q face the same direction.
N and J face the same direction.
Q and L face the same direction.

(5) When counted from the right of Q, two
persons - M and J - are sitting exactly
between Q and O.

(1) Nisanimmediate neighbour of both P and
Q.

(3) N faces towards the centre. L sits third to
the right of N.

(4) Kand N are immediate neighbours of P.

(5) Obviously, option (5) supports the action
of farmers of village B.

(27-28) :

217.

Some ratios are percent.

i

All percent are fractions.

| + A = | -type of Conclusion
“Some ratios are fractions.” (P)
All percent are fractions.

/

No fraction is a section.
A+ E = E -type of Conclusion

“No percent is a section.” (Q)
Some ratios are fractions.

/

No fraction is section.
| + E = O -type of Conclusion
“Some ratios are not sections.” (R)

Conclusion 1 is the Converse of the
Conclusion (Q). Venn
diagrams of “Some ratios are fractions”:

(1)

Ratios
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28. (1)

(29 - 30) :

29. (4)

Fractions

Or

1"l
Diagram I11 supports the Conclusion I1.

Venn diagrams of “Some ratios are not
sections” :

Ratios
S
I
I
Or

Diagram Il supports the Conclusion .
Conclusion 11 is the Converse of the
Conclusion (P).

All metals are plastics.

/

All plastics are ores.
A+ A = A -type of Conclusion
“All metals are ores.” (P)

Venn diagrams of “All metals are ores” :

Venn diagrams of “Some ores are wood””:

Ores
(o (o),
1
v

16

Wood

or

\%
Combine diagrams Il and IV :

Matals: Ores

VI
This diagram supports the conclusion I.

30. (5) Venn diagrams of “All plastics are ores”:

Ores Ores
.ﬁ ' Plastics
| 1

Venn diagrams of “Some ores are wood”:

Ores
(o o),
11
v

or

Woods

\Y

Wood
Plastics
Ores

VI
This diagram supports the Conclusion I1.

or
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(31-35):

—  Row-2 _168x4x7 _4g,
T 1 28-22
E E 48 v3 v I _168x4x7 _ 784
T R d=\/784=280m
E S |1
F g e 28
u a8 [H Radius=7=14 cm
Row -1 37. (1) 158 78 38 18 8 ?
31. (3) Xand Zsitat the extreme ends of the Row- @ Th '
e pattern
2. G and
E sit at the extreme ends of the Row-1. 158, _79_1-78
32. (4) HisaPilot. G sits to the immediate left of 2
H. 78
—-1=39-1=38
33. (5) W (Doctor) and Z (Pilot) are immediate z
neighbours of . 38
. —-1=19-1=18
34. (1) Y sits second to the left of X, F faces Y. 2
35. (2) Z faces E. H interchanged position with 18 1-9.1-8
Z. So, H faces E. 9 a
8
So1=4-1=
36. 2
38. (1) Thepattern is :-
16+3=19

19+5=(3+2)=24

24+9=(5+4)=33

Diameter of circle = side of square 33+17=(9+8)=50
=dcm
Area of square = d?sg. cm 50 + 33=(17+16) =

2

Area of 4 quadrants = %Sq_cm 39. (1) 402-1x2=402-2=400

400-3x4=400-12 =388

According to the question 388 _5x 6 = 388 —30 = 358
5 md? 358-7x8=2358-56 =302
d®=——=168
4 302-9x10=302-90 = [212]
d*(4-7) 40. (2) ~05=155-05=
2T 168 : = 31x05-05=155-05=15
=15%x1.5-15=225-15=21
d2_168x4_168x4 = 21x25-25=525-25=50
== A—m 22 =50%x3.5-35=175-35=1715

4-°%
7 =1715x4.5-45=771.75-4.5=767.25

17
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41. (3)

42. (3)

43. (1)

The pattern is :-
8x1-25=8-25=55
55x2-25=11-25=85
8.5x3-25=245-25=23
23x4-25=92-25=89.5
89.5x5-25=4475-25=445
Quantity of milk in Vessel = 14x Itr.

Quantity of water = 3x litres
In 25.5 litres of mixture,

Milk:Ex 25.5 = 21litres
17

Water = 4.5 litres
After additions,
Water =3x - 45+ 2.5
Quantity of mixture
=17x-255+75

=(17x—18) litres

o 3x-20 20 1

"17x-18 100 5
=17x-18=15x-10
=17x-15x=18-10

= 2x=8

X=4

. Initial quantity of the mixture = 17x
=17x4 =68 ltrs

Ratio of the equivalent capitals of A, B

and C for 1 month
=(20000% 6 +12000x6):

(28000%6+20000x6):

(36000 6 +44000%6)
=(120+72):(168+120): (216 +264)
=192:288:480=2:3:5
If the total profit at end of the year be x

C’sh _ 2 x=X
share=7;,%X=7

X 12550
2
X = 25100

44, (1)

45. (5)

Let the numbers be

a<b<c

According to question,

a+b+c
3x3

=a+b+c=9c-72 ..(I)

Again,

a+b=16

16+c=9c-72

=9c-c=72+16

=8c =88

c=11

Let x be the amount invested
Case |

_ PRT

Sl =700

_ Xxx8x14 %

~ 100 100

Case Il

Amount invested in scheme B

( 112X)
=Rs.| X+—o

100
(100x+112x}
=Rs.| — V¥ —

100

T
_ 212x 1+i 1
100 100
2
- 212x 1+£ 1
100 100

_ 212x (E_lj

100
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_21x 21
100 ~ 100

| 212xx21
10000

_ 6678x10000
212x21

6678

=15000

46. (1) 4 year’sago
A’s age = 10x year
B’s age = 3x year
A’s present age = (10x + 4) years
B’s present age = (3x + 4) years

J10X+4+8 341 a18)=-2

= 3x+12—(5x+6)=2

= 3x+12-5x-6=2
=6-2x=2
=2x=6-2=4

= x=2

B’s presentage =3x+4
= 3x2+4 =10 Yyears

47. (2) Total deductions for P
(21800><10
S| ————

+ 4720}

= Rs. (2180 + 4720) = Rs. 6900
- P’snetsalary

= Rs. (21800 + 28600 — 6900)
= Rs. 43500

48. (4) Q’s netsalary = Rs. 25850

If the basic salary of Q be Rs. x, then

Total allowance = Rs. (x + 3000)
-~ X+ X+3000- 4350 = 25850
= 2x-1350 = 25850

= 2x =25850+1350 = 27200

= x=27200+2 = Rs.13600
. Q’stotal allowance
= Rs. (13600 + 3000) = Rs. 16600

49. (2) Provident fund deduction of S

_ 1120010 ~ Rs1120
100
.. Other deductions of S

19

50. (5)

51. (5)

52. (1)

53. (3)

= Rs.[?xliZOJ = Rs. 2080

Required percent

_[11200-10400

x100
10400 J

800 100 _ 9

== —%
104 13 13

Other deductions for T = Rs. 4000
.-, Deduction for provident fund

= Rs. (5700 - 4000) = Rs. 700

. T’s basic salary

_1700x100 _ <1700

. T’snet salary
=Rs. (17000 + 21600 - 5700) = Rs.32900

I x*-3x-88=0

= x?—11x+8x—-88=0
= X(x-11)+8(x-11)=0
= (x+8)(x-11)=0

= x=-8orll

11 y? +8y—48=0

= y2 +12y-4y—-48=0
= y2 +12y—-4y-48=0
= y(y+12)-4(y+12)=0
=(y-4)(y+12)=0

= y=4or-12

Hence x>y

1.5x% +29x+20=0

= 5x% + 25X +4x+20=0
= 5x(x+5)+4(x+5)=0
= (x+5)(5x+4)=0

= x=-5 or,—E
5
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54. (4)

55. (3)

1. 25y +25y+6=0
= 25y2 +15y+10y+6=0
= 5y(5y+3)+2(5y+3)=0
56. (5)
= (5y+2)(5y+3)=0

:>y——gor 3
5 ' 5

. 2x%2 ~11x +12=0

= 2x%2 —8x—3x+12=0
= 2x(x—-4)-3(x-4)=0
= (x-4)(2x-3)=0

:>x=4or,E
2

1. 2y? ~19y+44=0

= 2y% ~11y -8y +44=0

4

=y=-—or-1
y 3

Clearly, x<y

1. 2x2 +21x+10=0

= 2x% +20x+x+10=0

= 2x(x+10)+1(x+10)=0
= (x+10)(2x+1)=0

= x =-10or, —1
2

1. 3y? +13y +14=0
=3y? +6y+7y+14=0
=3y(y+2)+7(y+2)=0
= (3y+7)(y+2)=0

7
= y=——0r-2
. 3

=y(2y-11)-4(2y-11)=0 Calculations (57 - 61) :

= (y-4)(2y-11)=0

11
=y=4o0r—
y 2

LX<y

. 3x2 +10x+8=0

= 3x2 +6X+4x+8=0
= 3x(x+2)+4(x+2)=0
= (3x+4)(x+2)=0

= x:—ior,—Z
3

1. 3y? +7y+4=0
:>3y2+3y+4y+4=0
=3y(y+1)+4(y+1)=0
= (3y+4)(y+1)=0

20

Total number of employees in company

5
_ > 44800 = 2000
A=

70x 2000
Male employees = EETTIRR 1400

Male employees in operations department

~ 1400% 60
100

Male employees in administration

40 1
=1400x—x==70
department X 100 X 8

=840

Male employees in other departments

= 1400 -840 - 70 = 490

Total female employees

= 2000 — 1400 = 600

Female employees in administration
department

_ 24x600
100

=144




57

58

59

60.
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- (4)

. @)

- (4)
(1)

Female employees
department

in operations

- (600—144)><§ ~ 285

Female employees in other department
=600 -144-285=171
Total number of employees in company

B= lx 4800 = 2800
12

Male employees

_2800x80
100
Male employees in operations department

_ 2240x65
100
Male employees in other departments

_ 490x120
100

Male employees in administration
department = 2240 — 1456 — 588 = 196

Female employees = 2800 — 2240 = 560
Female employees in operations

1456 x 25
100

= 2240

=1456

=588

department = =364

Female employees in administration
department

-364

2 4

Female employees in other departments
=560 - 364 — 49 = 147

x100 = 35%

. 490
Required percent=
1400

Required percent= ﬂx 100=17.5
560

Required answer = 285 + 364 = 649
Required difference

1714147 70+196
2 2
~159-133 =26

21

61. (2)

62. (5)

63. (2)

Required ratio = (196 + 49) : (588 + 147)
=245:735=1:3

Pia’s monthly salary = Rs. 5x

Percentage expenditure by Pia on Mother
+ Tuition fee + payment of debt

=60+ 15+18=93%

Expenditure on shopping = 7%

- Bxx—— = 2100
100

= 5xx7=210000
210000
X =

X

. Som’s monthly salary
=4x = 4x 6000 = Rs.24000
According to the question,
18 x 16 women
= 24 %18 children
— 2women = 3 children
.8 women + 16 children
= (12 + 16) children = 28 Children
_, M;D; _ 4D,

W, W,

= 6000

24x18 28x9
= =
1w,

_28x9 7
24x18 12
. Remaining work

W,

This part of work is done by 10 men.
M;D; _ M;yD,
W, W,

12x20 _10><D2
—

12

=

=10xD, =12><20><%=100

=D, =%=10days
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. 12
64. (4) C.Pof artlclezﬂ ~Rs. ¥ _Rs. y
100 5
Case Il.
100 20
SP.=y-76

= Rs.(e—X - 76}
5

According to the question,

6x oo _17x 130 _ 221x
5 © 20 100 200
_ 6x 221x o

5 200
- 240x —221x _76

200

:>19—X=76

200

x=16x200 _ooe00

65. (5) Number of projects handled by company
A in the years 2005 and 2006

=360 + 250 = 610

-.Number of governmental projects

610x 20 _122

handled =
66. (4) Number of projects handled by company
B in 2003 and 2004
=130 + 320 =450
Number of non — governmental projects
handled =127 x 2 =254
-.Number of governmental projects
handled = 450 — 254 = 196

22

67

68.

69.

70.

71.
76.
81.
86.
9l
96.

(1)

()

@)

(1)
(3)
()
(4)
(5)
@

. (5) Required percentage decrease

B [320-190

x100
320 j

_1300 325 _ 02
32 8 8

Number of projects handled by company
Ain 2009
120

:SOOX—X@ =
100 100

378

Required difference
= (210 + 350) — 180 + 230)
=560 —410 = 150

Rate downstream = 24 + 4 = 28 kmph
Rate upstream = 24 — 4 = 20 kmph
=xkm
..BC = (x—4) km.
According to the question,
S el

20 28 60

7x—28-5x 3

= =

140 5
2x—-28 3

140 5

= 2x—28=§x140=84
= 2Xx=84+28=12

:>X=%=56km

(4)
()
(4)
(4)
(4)
()

72.
77.
82.
87.
92.
97.

74.
79.
84.
89.
94.
99.

73. (5)
78. (5)
83. (2)
88. (5)
93. (4)
98. (5)

(2)
(3)
(2)

75. (2)
80. (3)
85. (3)
@) 9. (3)
@) 95. (1)
(3) 100. (2)



